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/* Disco Bot/* Disco Bot

 This sketch shows you how to  This sketch shows you how to 
use the melody playinguse the melody playing
 feature of the robot, with some  feature of the robot, with some 
really cool 8-bit music.really cool 8-bit music.
 Music will play when the robot  Music will play when the robot 
is turned on, and itis turned on, and it
 will show you some dance moves. will show you some dance moves.

 Circuit: Circuit:
 * Arduino Robot * Arduino Robot

 created 1 May 2013 created 1 May 2013
 by X. Yang by X. Yang
 modified 12 May 2013 modified 12 May 2013
 by D. Cuartielles by D. Cuartielles



 This example is in the public  This example is in the public 
domaindomain
 */ */

#include <ArduinoRobot.h> // in-#include <ArduinoRobot.h> // in-
clude the robot libraryclude the robot library
#include <Wire.h>#include <Wire.h>

/* Dancing steps:/* Dancing steps:
  S: stop  S: stop
  L: turn left  L: turn left
  R: turn right  R: turn right
  F: go forward  F: go forward
  B: go backwards  B: go backwards

  The number after each command   The number after each command 
determines how longdetermines how long
  each step lasts. Each number is   each step lasts. Each number is 
1/2 second long.1/2 second long.



  The “\0” indicates end of   The “\0” indicates end of 
stringstring
*/*/
char danceScript[] = “S4L1R1S-char danceScript[] = “S4L1R1S-
2F1B1S1\0”;2F1B1S1\0”;

int currentScript = 0; // what int currentScript = 0; // what 
step are we atstep are we at

int currentSong = 0; // keep int currentSong = 0; // keep 
track of the current songtrack of the current song
static const int SONGS_COUNT = 3; static const int SONGS_COUNT = 3; 
// number of songs// number of songs

// an array to hold the songs// an array to hold the songs
char musics[][11] = {char musics[][11] = {
  “melody.sqm”,  “melody.sqm”,
  “menu.sqm”,  “menu.sqm”,
  “chase.sqm”,  “chase.sqm”,



};};

// variables for non-blocking de-// variables for non-blocking de-
laylay
long waitFrom;long waitFrom;
long waitTime = 0;long waitTime = 0;

void setup() {void setup() {
  // initialize the Robot, SD   // initialize the Robot, SD 
card, display, and speakercard, display, and speaker
  Robot.begin();  Robot.begin();
  Robot.beginSpeaker();  Robot.beginSpeaker();
  Robot.beginSD();  Robot.beginSD();
  Robot.beginTFT();  Robot.beginTFT();

  // draw “lg0.bmp” and “lg1.bmp”   // draw “lg0.bmp” and “lg1.bmp” 
on the screenon the screen
 Robot.displayLogos(); Robot.displayLogos();
  



  // Print instructions to the   // Print instructions to the 
screenscreen
  Robot.text(“1. Use left and\n   Robot.text(“1. Use left and\n 
right key to switch\n song”, 5, right key to switch\n song”, 5, 
5);5);
  Robot.text(“2. Put robot on   Robot.text(“2. Put robot on 
the\n ground to dance”, 5, 33);the\n ground to dance”, 5, 33);

  // wait for a few soconds  // wait for a few soconds
  delay(3000);  delay(3000);

  setInterface(); // display the   setInterface(); // display the 
current songcurrent song
  play(0);  //play the first song   play(0);  //play the first song 
in the arrayin the array

  resetWait();  //Initialize   resetWait();  //Initialize 
non-blocking delaynon-blocking delay
}}

void loop() {void loop() {



  // read the butttons on the   // read the butttons on the 
robotrobot
  int key = Robot.keyboardRead();  int key = Robot.keyboardRead();

  // Right/left buttons play   // Right/left buttons play 
next/previous songnext/previous song
  switch (key) {  switch (key) {
    case BUTTON_UP:    case BUTTON_UP:
    case BUTTON_LEFT:    case BUTTON_LEFT:
      play(-1);  //play previous       play(-1);  //play previous 
songsong
      break;      break;
    case BUTTON_DOWN:    case BUTTON_DOWN:
    case BUTTON_RIGHT:    case BUTTON_RIGHT:
      play(1);  //play next song      play(1);  //play next song
      break;      break;
  }  }



   // dance! // dance!
  runScript();  runScript();
}}

// Dancing function// Dancing function
void runScript() {void runScript() {
  if (!waiting()) { // if the   if (!waiting()) { // if the 
previous instructions have fini-previous instructions have fini-
shedshed
    // get the next 2 commands     // get the next 2 commands 
(direction and duration)(direction and duration)
    parseCommand(danceScript[-    parseCommand(danceScript[-
currentScript], danceScript[cu-currentScript], danceScript[cu-
rrentScript + 1]);rrentScript + 1]);
    currentScript += 2;    currentScript += 2;
    if (danceScript[currentS-    if (danceScript[currentS-
cript] == ‘\0’) { // at the end cript] == ‘\0’) { // at the end 
of the arrayof the array
      currentScript = 0;  //       currentScript = 0;  // 
start again at the beginningstart again at the beginning
    }    }



  }  }
}}

// instead of delay, use this ti-// instead of delay, use this ti-
mermer
bool waiting() {bool waiting() {
  if (millis() - waitFrom >= wai-  if (millis() - waitFrom >= wai-
tTime) {tTime) {
    return false;    return false;
  } else {  } else {
    return true;    return true;
  }  }
}}

// how long to wait// how long to wait
void wait(long t) {void wait(long t) {
 resetWait(); resetWait();



  waitTime = t;  waitTime = t;
}}

// reset the timer// reset the timer
void resetWait() {void resetWait() {
  waitFrom = millis();  waitFrom = millis();
}}

// read the direction and dirs-// read the direction and dirs-
tion of the stepstion of the steps
void parseCommand(char dir, char void parseCommand(char dir, char 
duration) {duration) {
  //convert the scripts to action  //convert the scripts to action
  switch (dir) {  switch (dir) {
    case ‘L’:    case ‘L’:
      Robot.motorsWrite(-255,       Robot.motorsWrite(-255, 
255);255);
      break;      break;



Y’all can relate:

    case ‘R’:    case ‘R’:
      Robot.motorsWrite(255,       Robot.motorsWrite(255, 
-255);-255);
      break;      break;
    case ‘F’:    case ‘F’:
      Robot.motorsWrite(255,       Robot.motorsWrite(255, 
255);255);
      break;      break;
    case ‘B’:    case ‘B’:
      Robot.motorsWrite(-255,       Robot.motorsWrite(-255, 
-255);-255);
      break;      break;
    case ‘S’:    case ‘S’:
      Robot.motorsStop();      Robot.motorsStop();
      break;      break;
  }  }
  //You can change “500” to chan-  //You can change “500” to chan-
ge the pace of dancingge the pace of dancing
  wait(500 * (duration - ‘0’));  wait(500 * (duration - ‘0’));



}}

// display the song// display the song
void setInterface() {void setInterface() {
  Robot.clearScreen();  Robot.clearScreen();
  Robot.stroke(0, 0, 0);  Robot.stroke(0, 0, 0);
  Robot.text(musics[0], 0, 0);  Robot.text(musics[0], 0, 0);
}}

// display the next song// display the next song
void select(int seq, bool onOff) {void select(int seq, bool onOff) {
  if (onOff) { //select  if (onOff) { //select
    Robot.stroke(0, 0, 0);    Robot.stroke(0, 0, 0);
    Robot.text(musics[seq], 0,     Robot.text(musics[seq], 0, 
0);0);
  } else { //deselect  } else { //deselect



    Robot.stroke(255, 255, 255);    Robot.stroke(255, 255, 255);
    Robot.text(musics[seq], 0,     Robot.text(musics[seq], 0, 
0);0);
  }  }
}}

// play the slected song// play the slected song
void play(int seq) {void play(int seq) {
  select(currentSong, false);  select(currentSong, false);
  if (currentSong <= 0 && seq ==   if (currentSong <= 0 && seq == 
-1) { //previous of 1st song?-1) { //previous of 1st song?
    currentSong = SONGS_COUNT -     currentSong = SONGS_COUNT - 
1; //go to last song1; //go to last song
  } else if (currentSong >=   } else if (currentSong >= 
SONGS_COUNT - 1 && seq == 1) { //SONGS_COUNT - 1 && seq == 1) { //
next of last?next of last?
    currentSong = 0;  //go to 1st     currentSong = 0;  //go to 1st 
songsong
  } else {  } else {
    currentSong += seq;  //next     currentSong += seq;  //next 
songsong
  }  }
  Robot.stopPlayFile();  Robot.stopPlayFile();
  Robot.playFile(musics[current-  Robot.playFile(musics[current-
Song]);Song]);
  select(currentSong, true);  //  select(currentSong, true);  //
display the current songdisplay the current song
}}



 from random import randint from random import randint

names = [“2020: “, ‘’’Literalmente nadie:names = [“2020: “, ‘’’Literalmente nadie:

yo:’’’, “before and after de”, “en 1930:”, “porqué me hace gracia esto?”, “porfavor”, “Porfavor que alguien me yo:’’’, “before and after de”, “en 1930:”, “porqué me hace gracia esto?”, “porfavor”, “Porfavor que alguien me 

explique porqué”, “me acaba de pasar esto”, “Nadie:”, “Wtf????”, ‘ese soy yo cuando me dicen si puedo’, “si explique porqué”, “me acaba de pasar esto”, “Nadie:”, “Wtf????”, ‘ese soy yo cuando me dicen si puedo’, “si 

nico, todos tenemos que”, “si te expulsan diles que tienen que”, “primeras consecuencias de”, “los jovenes y nico, todos tenemos que”, “si te expulsan diles que tienen que”, “primeras consecuencias de”, “los jovenes y 

los bebés”,los bebés”,

         “solo lo entenderan los que les cuesta”, “que probabilidad hay de que salga el meme que estoy pensando          “solo lo entenderan los que les cuesta”, “que probabilidad hay de que salga el meme que estoy pensando 

ahora y metiendo en el dataset??”, “No me lo creooooo, acabo de”, “Mi madre:”, “Yo:”, “ellos:”, “tu:”, “esto me ahora y metiendo en el dataset??”, “No me lo creooooo, acabo de”, “Mi madre:”, “Yo:”, “ellos:”, “tu:”, “esto me 

pasa por”, “Yo a tu edad ya tenía trabajo y casa propia (llorando)”,pasa por”, “Yo a tu edad ya tenía trabajo y casa propia (llorando)”,

         “los que tienen miedo al coronavirus:”, “Ya no me hace gracia lo de”, “vaya basura tio”, “Os dais cuenta          “los que tienen miedo al coronavirus:”, “Ya no me hace gracia lo de”, “vaya basura tio”, “Os dais cuenta 

de que”, “A esto me refiero cuando digo:”,de que”, “A esto me refiero cuando digo:”,

        “fachas:”, “comunistas:”, “Y’all can relate:”, “No homo but:” “esque me da algo”, “este eres tu cuando         “fachas:”, “comunistas:”, “Y’all can relate:”, “No homo but:” “esque me da algo”, “este eres tu cuando 

no sabes si”, “cuando no sabes”]no sabes si”, “cuando no sabes”]

verbs = [“Yo:”, “ser”, “cantando junto a”, “si sale esto como respuesta al mensaje de la probabilidad hago un verbs = [“Yo:”, “ser”, “cantando junto a”, “si sale esto como respuesta al mensaje de la probabilidad hago un 

meme precioso”, “la esperanza es lo último que se pierde”, “a ver cuánto me dan por esta caracola (jugando al meme precioso”, “la esperanza es lo último que se pierde”, “a ver cuánto me dan por esta caracola (jugando al 

animal crossing)”,animal crossing)”,



                 “Literalmente nadie: “, “yendo al salón para no pasarme todo el día en la cama y socializar y luego    “Literalmente nadie: “, “yendo al salón para no pasarme todo el día en la cama y socializar y luego 

volver a los 10 segundos”, “salir con”, “ “, “ “, “me comen los huevos”, “ya basta de tanta tonteria”, “i love volver a los 10 segundos”, “salir con”, “ “, “ “, “me comen los huevos”, “ya basta de tanta tonteria”, “i love 

you”, ‘tienen’, “qué es estoooo??”, “hablando con mi amigo mientras digo”, “para matar”, “ok boomer”, “salí a you”, ‘tienen’, “qué es estoooo??”, “hablando con mi amigo mientras digo”, “para matar”, “ok boomer”, “salí a 

comer y no encontré”, “estan”, “comer”, “estar”, “tener”, “tengo”, “tienes”, “cantar”, “golpear”, “limpiar”, “me comer y no encontré”, “estan”, “comer”, “estar”, “tener”, “tengo”, “tienes”, “cantar”, “golpear”, “limpiar”, “me 

parto la polla por culpa de”]parto la polla por culpa de”]

nouns = [“caca”, “ “, “porque lo digo yo”, “y punto”, “si sale esto como respuesta al mensaje de la probabilidad nouns = [“caca”, “ “, “porque lo digo yo”, “y punto”, “si sale esto como respuesta al mensaje de la probabilidad 

hago un meme precioso”, “a Alisson Becker jajaj”, “me recuerda al video de ostia no lo he enchufao”, “cada segun-hago un meme precioso”, “a Alisson Becker jajaj”, “me recuerda al video de ostia no lo he enchufao”, “cada segun-

do que pasa”, “en el futuro”, “y Yo pensando que ya lo habia visto todo...”, “un desgraciado”, “es malo para tu do que pasa”, “en el futuro”, “y Yo pensando que ya lo habia visto todo...”, “un desgraciado”, “es malo para tu 

salud y la de todos”, “y tener un hijo con Pedro Sanchez”, “a mi amigo no le toca nadie”, “cosas”, “pero bueno ya salud y la de todos”, “y tener un hijo con Pedro Sanchez”, “a mi amigo no le toca nadie”, “cosas”, “pero bueno ya 

estoy hasta la polla”, “pero 2 + 1 son 3”, “por mis ovarios que lo hago”, “es una buena decisión”, “haters”, “me estoy hasta la polla”, “pero 2 + 1 son 3”, “por mis ovarios que lo hago”, “es una buena decisión”, “haters”, “me 

voy de twitter”, “ “, “un saludo a pablo sobrado”, “para matar”, “manzanas” , “dicen que esta pasado de moda”, voy de twitter”, “ “, “un saludo a pablo sobrado”, “para matar”, “manzanas” , “dicen que esta pasado de moda”, 

“hijodeputa”, “cabron”, “coches”, “muriendo por dentro”, “a firulais”, “bro”, “a tu madre”]“hijodeputa”, “cabron”, “coches”, “muriendo por dentro”, “a firulais”, “bro”, “a tu madre”]

while True:while True:

    print(names[randint(0, len(names)-1)]+” “+verbs[randint(0, len(verbs)-1)]+” “+nouns[randint(0, len(-    print(names[randint(0, len(names)-1)]+” “+verbs[randint(0, len(verbs)-1)]+” “+nouns[randint(0, len(-

nouns)-1)])nouns)-1)])

    input()    input()





porqué me hace gracia esto??? f en el chat 
cabrones


